$$\begin{cases} \text{Points} \\ \text{freeduced mass is given by} \\ \mu = \frac{m_{n,n}m_{m_{n}}}{m_{n,n} + m_{n}} = \frac{207 m_{n}m_{n}}{207 m_{n} + m_{n}} = \frac{207 (9.11 \times 10^{-11} kg)(1.67 \times 10^{-27} kg)}{207 (9.11 \times 10^{-21} kg) + 1.67 \times 10^{-27} kg} \\ = 1.69 \times 10^{-28} kg = 186 m_{n} \\ \text{Using Under Physical Constants} = \frac{1}{2} \frac{h^{-2}}{M_{n}} \frac{h^{-2}}{a_{n}} = \frac{h^{-2}}{m_{n}^{2}} \frac{k^{2} e^{-m_{n}}}{k^{2} + 2} \frac{1 + e^{-4}}{2(4 \pi e_{n})^{2}} e^{-\frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} = -\frac{11 + e^{-4}}{m_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} = -\frac{11 + e^{-4}}{m_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} e^{-\frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{e^{-4}}{M_{n}^{2}}} e^{-\frac{1}{2} \frac{1}{2} \frac{e^{-4}}{M_{n}^{2}}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} e^{-\frac{1}{2} \frac{h^{-2}}{M_{n}}} \frac{1}{a_{n}^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{e^{-4}}{M_{n}^{2}}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{e^{-4}}{M_{n}^{2}}} e^{-\frac{1}{2} \frac{1}{2} \frac{e^{-4}}{M_{n}^{2}}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} e^{-\frac{1}{2} \frac{1}{2} \frac{1}{M_{n}^{2}}} \frac{1}{2} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} \frac{1}{2} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} \frac{1}{m^{2}}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} \frac{1}{m^{2}}} \frac{1}{2} \frac{1}{(4 \pi e_{n})^{2}} \frac{1}{m^{2}}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}{m^{2}} \frac{1}$$

A2. We consider the operator  $B = e^{A}$ , where the operator A is hermitian.

Is B hermitian?



**A3**. A spin-2 particle is in the spin state  $m_s = 1$ . Calculate the angle between its spin vector and the *z* axis.

**SOLUTION** 

For 
$$s=2$$
, we have  $S^2 = s(s+1)\hbar^2$ , so the length of  $S$  is  $\sqrt{2\times 3}\hbar = \sqrt{6}\hbar$ . We have  $\frac{S}{\hbar} = \sqrt{6}$  and  $\frac{m_s}{\hbar} = 1$ .  
See diagram:  $\varphi = \arccos\left(\frac{m_s}{S}\right) = \arccos\left(\frac{1}{\sqrt{6}}\right) = 66^\circ$ .  
8 points.  
8 points.  
8 points.  
9 points.  
9 points.  
9 points.  
9 points.

A 4 Sie perhele of man morring in I diminication 
$$\Psi(x,0) = e^{ikx}$$
  
(points: a) hit all quarter where eigenstate this is .  
Homentum  $\frac{\hbar}{L} de^{ikx} = \frac{\hbar}{L} k e^{ikx}$  high value of momentum is  $\frac{\hbar}{L} de^{ikx} = \frac{\hbar}{L} k e^{ikx}$  high value of  $\frac{1}{L} dx^2 e^{ikx} = \frac{\hbar}{L}^2 (ik)^2 e^{ikx}$  momentum is  $\frac{\hbar}{L} k$ .  
(intervening  $-\frac{\hbar^2}{2m} d^2 e^{ikx} = -\frac{\hbar^2}{2m} (ik)^2 e^{ikx}$  for any eigenvalue  $\frac{-\hbar^2 k^2}{2m}$ .  
 $= \frac{\hbar^2}{2m} (-ik)^2 e^{ikx}$  for any eigenvalue  $\frac{-\hbar^2 k^2}{2m}$ .  
(i) Pointule wave function of time t, in turns of k.  
 $\Psi(x,t) = e^{ikx} - i\frac{E}{L} t$   $e^{ikx} - \frac{i\frac{k}{L}k^2}{2m} t$ .  
 $= e^{i(kx - \frac{\hbar}{2m}k} t$ .  
(k) Pointule wave function  $\frac{\hbar}{L} dx k = \frac{1}{L} k (askx if NOF t)$ .  
(k)  $\Psi(x, 0) = Si k k = -\frac{\hbar}{2m} k$   $\frac{h}{2m} e^{ikx}$  momentum  $\frac{\pi}{L} d^2 Si k = -\frac{\hbar^2(k^2)}{2m} Si k + \frac{\pi}{L} k$  (askx if NOF t)  $\frac{3}{2m} dx^2 = -\frac{\hbar^2(k^2)}{2m} Si k + \frac{\pi}{L} k$  (askx if NOF t)  $\frac{3}{2m} dx^2 = -\frac{\hbar^2(k^2)}{2m} Si k + \frac{\pi}{L} k$  (askx if NOF t)  $\frac{\pi}{L} d^2 Si k + \frac{-\hbar^2(k^2)}{2m} Si k + \frac{\pi}{L} k$  (askx if NOF t)  $\frac{\pi}{L} d^2 Si k + \frac{-\hbar^2(k^2)}{2m} Si k + \frac{\pi}{L} k$  (asking the total time t)  $\frac{\pi}{L} dx^2 + \frac{\hbar^2 k^2}{2m} t$ .  
 $\Psi(x, 0) = Si k (-x) = + Si k + \frac{\pi}{L} k$  (asking the time t)  $\frac{\hbar^2 k^2}{2m}$  (applied to the of  $-1$ .

- B1. Consider the wave function  $\psi(\theta,\phi) = 3\sin\theta\cos\theta e^{i\phi} 2(1-\cos^2\theta)e^{2i\phi}$ .
  - a. Write  $\psi$  in terms of spherical harmonics

  - b. Is  $\psi$  an eigenfunction of  $L^2$ ? Of  $L_z$ ? There were  $L^2$  is  $\psi$  and  $\psi$  and  $\chi$  is  $\chi$  for the probability of measuring  $2\hbar$  for the z component of the orbital angular momentum.

## **SOLUTION**

## <u>Part a</u>

Using a table of spherical harmonics, we can do the expansion by inspection:

82:  
(a. Chargy eigenstation 
$$E = E_{0}\lambda$$
  
Solve  $|I-1-I-\lambda| = 0$   
 $|I-1-I$ 

$$\begin{cases} \forall H(\overline{B}) \\ \text{At } t=0 \ (h) \quad \text{Find cyclostates } \forall S_{1} \in \frac{h}{L} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \\ \text{Cigenstates } \phi \quad \forall f_{2} = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \text{ arrestite} \\ f_{1} & 1 & 1 \\ f_{1} & -\lambda & 1 \\ f_{2} & 0 & \lambda = \lambda \\ f_{1} & f_{2} & 1 \\ f_{2} & f_{2} & 1 \\ f_{2} & f_{2} & f_{2} & f_{1} \\ f_{1} & f_{2} & f_{2} & f_{2} \\ f_{2} f_{3} & f_{3} \\ f_{3} & f_{3} \\ f_{3} & f_{3} \\ f_{4} & f_{4} \\ f_{$$

 $\frac{\phi(p) = C e^{(-|p|/p_0)}}{1 + e^{-p_0}}$ R4.  $|\varphi(p)|^2 dp = 1 (2points)$   $C^2 (f^{00} e^{-2|p|/p_0} d_{pp} = C^2 \int e^{t \cdot 2p/p_0} dp t$ e dp points  $C^2 \left[ \frac{1}{p_0} e^{\frac{1}{p_0} P_0} \right]$ e<sup>-2</sup>p/po  $C^2 p_0 =$  $= C^{2}$ -0 - (0 - 1)- $C = 1/\sqrt{p_o}$ 0 0 function in position space, 4(x 6) Wave P(p)) e<sup>i P/2</sup> do onier This is Space p=tr of they points h Y - $(\chi$ JZITK 1 -00 tel e-ppoe 5 points e Ma e that do + ponts 68 1 VITT Po e P ( 1/po + 1/m ) 石 + 1 - 1/po + in x 1 + 1× VZTIL PO 0 1-0)) + (the (0 - 1)- titizpo JaTT to po tit rpo = potr Fitn + ixpo - th - ixpo Pot Y(x tringo -tringo 1271thpo =12= V2TItipo [12/ Poth [h2+22po2  $\Psi(x)$ J2TT theo

FWHM of p(p) f(p) = 1 C)= 1p1/po = 1/2. 2 pts) 12 In 1/2 = - Po tu 1/2 = - 1p Spla 2 2 - $\frac{M}{2t^2} \frac{\delta_1}{\delta_2}$   $\frac{1}{4t^2} + \frac{1}{2t^2} \frac{\delta_1}{\delta_2}$ = / JZIT po 2 1.e.  $2t^{2} = 2t^{2} = 2t^{2} = p_{0}^{2}$ ti<sup>2</sup> + ny po<sup>2</sup>  $\int \Delta \times \Delta p = \int z + \frac{1}{2} - \frac{1}{2} \frac{1}{2}$  $2(t_{h})(0.7)$ state have use if n -even party a depute party ? - ~ nothing 3 points i an integral representation for 4(2,6) alto Will e  $e^{\frac{c}{h}} \frac{p}{\lambda} \frac{e}{\sqrt{p_0}} \frac{-(P/p_0)}{\sqrt{p_0}} d$ 1 J211 h points. -00 -1 (eifne lp/po -ip²t) J2TT to PO ce its a free particle

A1: Two uniform infinite sheets of electric charge densities  $+\sigma$  and  $-\sigma$  intersect at right angles. Find the magnitude and direction of the electric field everywhere and sketch the lines of electric field **E**.

*Solution:* First let us consider the infinite sheet of charge density + The magnitude of the electric field caused by it at any space point is

$$E = \frac{\sigma}{2\varepsilon_0}.$$
 SS points

The direction of the electric field is perpendicular to the surface of the sheet. For the two orthogonal sheets of charge densities  $\pm \sigma$ , superposition of their electric fields yields



**B1**: A ring of radius *R* has a total charge +Q uniformly distributed on it (Fig. 2).

1) Find electric field **E** at the axis of the ring (the *z*-axis). From  $\mathbf{E}(z)$ , find the electrostatic potential at the *z*-axis from the field  $\mathbf{E}(z)$ .

2) Consider a point charge -Q at the center of the ring constrained to slide along the *z*-axis. Show that the charge will execute simple harmonic motion for small displacements perpendicular to the plane of the ring.



*Solution:* 1) The electric field is obtained from Coulomb's law. By symmetry, at the *z*-axis, the field is pointing along the *z* direction. A contribution to the *z* component of the field from a

charge dq at any point on the ring is  $dE_z = \frac{dq}{4\pi\varepsilon_0 r^2} \cos\theta$ , where  $r = \sqrt{R^2 + z^2}$  and  $\cos\theta = \frac{z}{r}$ . Integrating over the charge on the ring, we obtain if integrated by integrating the field which gives:  $\Phi(z) = \int_{z}^{\infty} E(z')dz' = \frac{Q}{4\pi\varepsilon_0}\int_{z}^{\infty} \frac{z'}{(R^2 + z'^2)^{3/2}}dz' = \frac{Q}{4\pi\varepsilon_0\sqrt{R^2 + z^2}}$ (2) The electrostatic force acting on the change is given by  $F(z) = -QE(z) = -\frac{Q^2z}{4\pi\varepsilon_0(R^2 + z^2)^{3/2}}\hat{z}.$ For small displacements z = 0, the form R is a single formula to the formula to t

For small displacements  $z \square R$ , the force *F* is proportional to *z* and therefore charge -Q will execute simple harmonic oscillations.

**B2.** A sphere of radius  $R_1$  has charge density  $\rho$  uniform within its volume, except for a small spherical hollow region of radius  $R_2$  located a distance a from the center.

1) Find the electric field *E* at the center of the hollow sphere.

2) Find the potential  $\Phi$  at the same point.

Solution: 1) Consider an arbitrary point P of the hollow region (see Fig. 3) and let

 $OP = \mathbf{r}, \quad O'P = \mathbf{r}', \quad OO' = \mathbf{a}, \quad \mathbf{r}' = \mathbf{r} - \mathbf{a}.$ 



If there were no hollow region inside the sphere, the electric field at the point P would be

$$\mathbf{E}_1 = \frac{\rho}{3\varepsilon_0} \mathbf{r} \, .$$

2points

If only the spherical hollow region has charge density p the electric field at P would be

$$\mathbf{E}_2 = \frac{\rho}{3\varepsilon_0} \mathbf{r}'$$

Hence the superposition theorem gives the electric field at P as

$$\mathbf{E} = \mathbf{E}_1 - \mathbf{E}_2 = \frac{\rho}{3\varepsilon_0} \mathbf{a}.$$

Thus, the field inside the hollow region is uniform. This of course includes the center of the hollow.

2) Suppose the potential is taken to be zero at an infinite point. Consider an arbitrary sphere of radius *R* with a uniform charge density  $\rho$ . We can find the electric fields inside and outside the sphere as

$$\mathbf{E}(\mathbf{r}) = \begin{cases} \frac{\rho}{3\varepsilon_0} \mathbf{r}, & r < R, \\ \frac{\rho R^3}{3\varepsilon_0 r^3} \mathbf{r}, & r > R. \end{cases}$$

Then the potential at an arbitrary point inside the sphere is

$$\Phi = \int_{r}^{R} \mathbf{E} \cdot d\mathbf{r} + \int_{R}^{\infty} \mathbf{E} \cdot d\mathbf{r} = \frac{\rho}{6\varepsilon_{0}} (3R^{2} - r^{2}). \qquad (1) \int \int \rho \mathbf{O} \mathcal{V} \mathcal{L} \mathbf{L}$$

where r is the distance between this point and the spherical center.

Now consider the problem in hand. If the charges are distributed throughout the sphere of radius  $R_1$ , let  $\Phi_1$  be the potential at the center O' of the hollow region. If the charge distribution is replaced by a small sphere of uniform charge density  $\rho$  of radius  $R_2$  the hollow region, let the potential at O' be  $\Phi_2$ . Using (1) and the superposition theorem, we obtain

A2. A particle with charge q is traveling with velocity v parallel to a wire with a uniform linear charge distribution  $\lambda$  per unit length. The wire also carries a current I as shown in Fig.5. What must the velocity be for the particle to travel in a straight line parallel to the wire, a distance r away?



Solution: Consider a long cylinder of radius r with the axis along the wire. Denote its curved surface for unit length by S and the periphery of its cross section by C. Using Gauss's flux theorem and Ampere's circuital law,

$$\iint_{S} \mathbf{E} \cdot d\mathbf{s} = \frac{\lambda}{\varepsilon_{0}} \text{ and } \iint_{C} \mathbf{B} \cdot d\mathbf{I} = \mu_{0}I,$$
  
by the axial symmetry we find  
$$\mathbf{E}(\mathbf{r}) = \frac{\lambda}{2\pi\varepsilon_{0}r} \hat{\mathbf{r}} \text{ and } \mathbf{B}(\mathbf{r}) = \frac{\mu_{0}I}{2\pi r} \hat{\mathbf{\phi}},$$
  
in cylindrical coordinates  $\mathbf{r} = (r, \phi, z)$  with origin at the wire.  
in cylindrical coordinates  $(\mathbf{r}, 0, z)$  with origin 0 at the wire.  
The total force acting on the particle which has velocity  $\mathbf{v} = v\hat{\mathbf{z}}$  is  
$$\mathbf{F} = \mathbf{F}_{e} + \mathbf{F}_{m} = q\mathbf{E} + q\mathbf{v} \times \mathbf{B} = \frac{q\lambda}{2\pi\varepsilon_{0}r} \hat{\mathbf{r}} + \frac{q\mu_{0}I}{2\pi r} v(-\hat{\mathbf{r}})$$

For the particle to maintain the motion along the *z* direction, this radial force must vanish, i.e.,

$$\frac{q\lambda}{2\pi\varepsilon_0 r} - \frac{q\mu_0 I}{2\pi r} v = 0$$

resulting in

$$v = \frac{q\lambda}{\mu_0 \varepsilon_0 I} = \frac{\lambda c^2}{I}$$
.  $\int 5 p 0 in t 5$ 

**B3.** Two parallel straight wires of infinite length are separated by distance 2a and carry current *I* in opposite directions, as shown in Fig. 4. A circular conducting ring of radius *a* lies in the plane of the wires between them. The ring is electrically insulated from the wires. Find the coefficient of mutual inductance between the circular conductor and the two straight wires.



Solution: The magnetic field at a point between the two conductors at distance r from one conductor is

$$\mathbf{B}(r) = \frac{\mu_0 I}{2\pi} \left( \frac{1}{r} + \frac{1}{2a-r} \right) \hat{\mathbf{\phi}} \cdot \int \mathbf{P} \mathbf{O} \cdot \mathbf{V} \mathbf{T} \mathbf{T}$$

So, the magnetic flux crossing the area of the ring is given by

$$\phi = \int \mathbf{B} \cdot d\mathbf{s} = 2 \int_{0}^{a} B(r) \cdot 2y dr = 2 \int_{0}^{a} \frac{\mu_0 I}{2\pi} \left( \frac{1}{r} + \frac{1}{2a-r} \right) \cdot 2\sqrt{a^2 - (a-r)^2} dr$$

Let x = a - r and integrate

$$\phi = 2\int_{0}^{a} \frac{\mu_0 I}{\pi} \left( \frac{1}{a-x} + \frac{1}{a+x} \right) \sqrt{a^2 - x^2} dx = 2\int_{0}^{a} \frac{\mu_0 I}{\pi} \left( \frac{2a}{\sqrt{a^2 - x^2}} \right) dx = \frac{4\mu_0 Ia}{\pi} \arcsin \frac{x}{a} \Big|_{0}^{a} = 2\mu_0 Ia$$

۲

The coefficient of mutual inductance is therefore

$$M = \frac{\phi}{I} = 2\mu_0 a.$$

$$\int 2 \text{ points} \\ \text{; f write } M = \frac{\varphi}{I}$$

L

B4. Consider an electromagnetic wave in free space of the form

$$\mathbf{E}(x, y, z, t) = \mathbf{E}_0(x, y)e^{i(kz-\omega t)}, \quad \mathbf{B}(x, y, z, t) = \mathbf{B}_0(x, y)e^{i(kz-\omega t)}.$$

where the amplitudes  $\mathbf{E}_0$  and  $\mathbf{B}_0$  are in the *xy* plane.

Using Maxwell's equations, find the relation between k and  $\omega$  as well as between  $\mathbf{E}_0(x, y)$  and  $\mathbf{B}_0(x, y)$ .

## Solution:

1) Calculating the curl of fields **E** and **B**, we find

$$\nabla \times \mathbf{E} = \begin{vmatrix} \hat{\mathbf{x}} & \hat{\mathbf{y}} & \hat{\mathbf{z}} \\ \frac{\partial}{\partial x} & \frac{\partial}{\partial y} & \frac{\partial}{\partial z} \\ E_{x} & E_{y} & E_{z} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{x}} & \frac{\partial}{\partial y} & \frac{\partial}{\partial y} \\ E_{xx} & E_{y} & E_{z} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} & \frac{\partial}{\partial y} & \frac{\partial}{\partial y} \\ E_{xx} & E_{y} & E_{z} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ E_{xx} & E_{y} & \mathbf{z} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ E_{xx} & E_{y} & \mathbf{z} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} & \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{vmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \\ \hat{\mathbf{z}} \end{vmatrix} = \begin{pmatrix} \hat{\mathbf{z}} & \hat{\mathbf{z}} \\ \hat{\mathbf$$

A3.) d J XXX The surface current density is K = I According to the Ampere law  $2B_{l} = M_{0} \frac{I}{w}l$ ,  $B_{l} = M_{0} \frac{I}{2W}$ This is the field due to one strip (between the strips) The field due to two strips is B = Mo I  $W = \frac{B^2}{2\mu_0} dw S$  where S is the length of the strip  $\frac{W}{S} = \frac{B^2}{2\mu_0} dw = \frac{dw}{2\mu_0} \left(\frac{\mu_0 I}{w}\right)^2 = \frac{\mu_0 I^2 d}{2w}$  $W = \frac{LI^2}{2}$ from S = Mod f Bis found g Ve 1;+ 2 points wis found give : + 8 points L is found give s points 

EM (A4)  
The field on the axis clue to large  
loop is  

$$B = \frac{M \circ I6^{2}}{2 [6^{2} + (2 \circ n \vee 1)^{2}]^{M}} \frac{gpoints}{gpoints}$$
Since a low assume that B is uniform  
in the smaller loop  
(a)  $\mathcal{E} = \frac{d}{dt} (Bag)$   $\mathcal{D} = B \pi a^{2}$   

$$\int_{-\frac{\pi}{R}}^{\frac{1}{dt}} \frac{d\mathcal{O}}{dt} = \frac{3}{2R} \frac{M \circ I6^{2} \pi a^{2}}{2 [6^{2} + (2 \circ n \vee 1)^{2}]^{5/2}} \cdot 2\nu (2 \circ n \vee 1)$$

$$= \frac{3}{2} \frac{\pi M \circ I6^{2} O^{2} \nu (2 \circ n \vee 1)}{R [6^{2} + (2 \circ n \vee 1)^{2}]^{5/2}} (pcus sign)$$
(b) current in the small loop is in the same  
direction as in the large loop since the flex is  
decreasing (leng law)  
(c)  $\nu t \gg 2 \circ , 6$   

$$\int_{-\frac{3}{2}}^{\frac{\pi}{2}} \frac{\pi M \circ I6^{2} a^{2} \nu^{2} t}{R (\nu t)^{5}} = \frac{3}{2} \frac{\pi M \circ I6^{2} a^{2}}{R \vee 3 t^{9}}$$

$$EM (B4) \qquad alternative solution 
\vec{E} = \vec{E}_{0}(4, y) \in (k_{2} - (v_{1}^{2}), \quad \vec{B} = \vec{E}_{v}(4, y) \in (k_{2} - w_{1}^{2}) 
\vec{V} \times \vec{E} = \int -ik E_{0y} \hat{x} + ik E_{0x} \hat{y} + \left(\frac{\partial E_{0y}}{\partial x} - \frac{\partial E_{0x}}{\partial y}\right) \hat{z} \int e^{i(k_{2} - w_{1}^{2})} 
\frac{\partial \vec{b}}{\partial t} = -i \omega \vec{B} \qquad \frac{\partial \vec{E}}{\partial t} = -i \omega \vec{E} 
drom \quad \vec{V} \times \vec{E} = -\frac{\partial \vec{B}}{\partial t} 
(-ik E_{0y} \hat{x} + ik E_{0x} \hat{y} + \left(\frac{\partial E_{0y}}{\partial x} - \frac{\partial E_{0x}}{\partial y}\right) + i \omega B_{0x} \hat{x} + i \omega B_{0y} \hat{y} 
drom \quad \vec{V} \times \vec{B} = \frac{1}{c_{1}} \frac{\partial \vec{E}}{\partial t} 
-ik B_{0y} \hat{x} + i k B_{0x} \hat{y} + \left(\frac{\partial B_{0y}}{\partial x} - \frac{\partial B_{0x}}{\partial y}\right) = -\frac{i\omega}{c_{2}} E_{0x} \hat{x} - \frac{i\omega}{c_{2}} E_{0y} \hat{y} 
Fn Components 
-k E_{0y} = c \omega B_{0x}, \quad k E_{0x} = -\omega E_{0y} \\
-k B_{0y} = -\frac{\omega}{c_{1}} E_{0x}, \quad k B_{0x} = -\frac{\omega}{c_{1}} E_{0y} \\
Components \\
ing Is and 4th cys, we get 
\frac{i\omega}{k} B_{0x} = \frac{kc^{2}}{c_{0}} B_{0x} \quad or \quad k = \frac{\omega}{c_{1}} \\
and the relationship destaucen \vec{E}_{0} and \vec{B}_{0} is from the (m), 
e_{0x} = \frac{i\omega}{k} B_{0y}, \quad E_{0y} = -\frac{\omega}{k} B_{0x} \\
E_{0x} = C B_{0y} \quad E_{0y} = -C B_{0x}$$

.